ON ASYMPTOTIC PROPERTY FOR NONLINEAR DIFFERENCE SYSTEMS

SUNG KYU CHOI, NAM JIP KOO, AND DONG MAN IM

ABSTRACT. We study asymptotic equivalence between nonlinear difference system

$$\Delta x(n) = f(n, x(n))$$

and its variational system

$$\Delta v(n) = f_x(n,0)v(n).$$

1. Introduction

We consider the nonlinear difference system

(1.1)
$$\Delta x(n) = f(n, x(n)), \ x(n_0) = x_0,$$

where Δ is the forward difference operator, i.e., $\Delta x(n) = x(n+1) - x(n)$, $f: \mathbb{N}(n_0) \times \mathbb{R}^m \to \mathbb{R}^m$, $\mathbb{N}(n_0) = \{n_0, n_0 + 1, \dots, n_0 + k, \dots\}$, n_0 is a nonnegative integer, and \mathbb{R}^m is the m-dimensional real Euclidean space.

System (1.1) has asymptotic equilibrium if there exists a single $\xi \in \mathbb{R}^m$ such that any solution $x(n) = x(n, n_0, x_0)$ of (1.1) for all $|x_0|$ sufficiently small satisfies

$$(1.2) x(n) = \xi + o(1) \text{ as } n \to \infty,$$

and, for every $\xi \in \mathbb{R}^m$, there exists a solution of (1.1) such that satisfies (1.2).

Also, for the other nonlinear difference system

$$(1.3) \Delta y(n) = g(n, y(n)),$$

where $g: \mathbb{N}(n_0) \times \mathbb{R}^m \to \mathbb{R}^m$, two systems (1.1) and (1.3) are said to be asymptotically equivalent if, for every solution x(n) of (1.1), there exists

Received October 1, 2004.

²⁰⁰⁰ Mathematics Subject Classification: 34D10, 39A11.

Key words and phrases: asymptotic equilibrium, asymptotic equivalence, nonlinear difference system, variational system, comparison principle.

a solution y(n) of (1.3) such that

$$(1.4) x(n) = y(n) + o(1) \text{ as } n \to \infty,$$

and conversely, for every solution y(n) of (1.3), there exists a solution x(n) of (1.1) such that (1.4) holds.

To study asymptotic relationship between two linear systems, the problem of asymptotic equivalence have been initiated by H. Poincaré (1885) and O. Perron (1921). In [8] Medina and Pinto studied asymptotic equivalence using dichotomy conditions. Also, Medina [7] investigated this problem using some discrete inequalities combined with the Schauder's fixed point theorem.

We established asymptotic equivalence between two nonlinear difference systems via their variational systems in [2]. Also, in [4], we characterized asymptotic equilibrium for nonlinear system by means of n_{∞} -similarity, which is defined in [3] as a different discrete analogue of t_{∞} -similarity by Conti.

In this paper we study asymptotic equivalence between (1.1) and its variational system

$$(1.5) \Delta v(n) = f_x(n,0)v(n),$$

where $f_x = \frac{\partial f}{\partial x}$, and give an appropriate example.

2. Main results

We are concerned with the nonlinear difference system

(2.1)
$$\Delta x(n) = f(n, x(n)), \ x(n_0) = x_0.$$

We assume that

- (i) $f_x = \frac{\partial f}{\partial x}$ exists,
- (ii) $I + f_x$ is continuous and invertible on $\mathbb{N}(n_0) \times \mathbb{R}^m$, where I is the $m \times m$ identity real matrix,
 - (iii) f(n,0) = 0.

Let $x(n) = x(n, n_0, x_0)$ be the solution of (2.1) with $x(n_0, n_0, x_0) = x_0$.

To study asymptotic behavior for (2.1) it is useful to consider its variational system

(2.2)
$$\Delta v(n) = f_x(n,0)v(n) = A(n)v(n)$$

and rewrite (2.1), by setting $f_x(n,0) = A(n)$ and using the mean value theorem, as

$$\Delta x(n) = A(n)x(n) + f(n, x(n)) - f_x(n, 0)x(n)$$

$$= A(n)x(n) + G(n, x(n)), \quad x(n_0) = x_0,$$

where

$$G(n,x) = \int_0^1 [f_x(n,\theta x) - f_x(n,0)] d\theta x.$$

Then, by the variational of constants formula [1], the solution of (2.3) is given by

(2.4)
$$x(n) = \Phi(n, n_0)x_0 + \sum_{s=n_0}^{n-1} \Phi(n, s+1)G(s, x(s)),$$

where $\Phi(n, n_0)$ is the fundamental matrix solution of the linear difference system $\Delta x(n) = A(n)x(n)$.

For system (2.3), we assume that

(2.5)
$$|G(n,x)| \le \omega(n,|x|), \ n \ge n_0, \ x \in \mathbb{R}^m,$$

where $\omega : \mathbb{N}(n_0) \times \mathbb{R}_+ \to \mathbb{R}_+$ is continuous and nondecreasing in $u \in \mathbb{R}_+$ for $n \geq n_0$.

To use the comparison principle we consider the scalar difference equation

(2.6)
$$\Delta u(n) = M^2 \omega(n, u(n)), \ u(n_0) = u_0 > 0,$$

where M is a positive constant, by the function $\omega(n, u)$.

We need the following comparison principle which is a slight modification of [6]:

LEMMA 2.1. [3] Let p(n,r) be a nondecreasing function in r for any fixed $n \in \mathbb{N}(n_0)$. Suppose that for $n \geq n_0$, nonnegative functions u(n) and v(n) defined on $\mathbb{N}(n_0)$ satisfies the following inequalities:

$$v(n) - \sum_{l=n_0}^{n-1} p(l, v(l)) < u(n) - \sum_{l=n_0}^{n-1} p(l, u(l)).$$

If $v(n_0) < u(n_0)$, then v(n) < u(n) for all $n \ge n_0$.

Now, we present the result.

THEOREM 2.2. Assume that (2.5) holds and all solutions of (2.6) are bounded on $\mathbb{N}(n_0)$. If the variational system (2.2) has asymptotic equilibrium, then the original system (2.1) has also asymptotic equilibrium provided $d = M|x_0| < u_0$.

PROOF. Let $x(n, n_0, x_0)$ be any solution of (2.1). From the variation of constants formula in [1] and conditions (i) and (ii), we obtain

$$|x(n)| = |\Phi(n, n_0)[x_0 + \sum_{s=n_0}^{n-1} \Phi^{-1}(s+1, n_0)G(s, x(s))]|$$

$$\leq |\Phi(n, n_0)||x_0| + |\Phi(n, n_0)| \sum_{s=n_0}^{n-1} |\Phi^{-1}(s+1, n_0)||G(s, x(s))|$$

$$\leq M|x_0| + M^2 \sum_{s=n_0}^{n-1} \omega(s, |x(s)|)$$

$$= d + M^2 \sum_{s=n_0}^{n-1} \omega(s, |x(s)|),$$

where $\Phi(n, n_0) \leq M$ for $n, m \geq n_0$ and $d = M|x_0|$. It follows that

$$|x(n)| - M^2 \sum_{s=n_0}^{n-1} \omega(s, |x(s)|) = d$$

$$< u_0 = u(n) - M^2 \sum_{s=n_0}^{n-1} \omega(s, u(s)).$$

Applying Lemma 2.1 for $p(n, u) = M^2 \omega(n, u)$, we conclude that

$$|x(n)| \le u(n)$$
 for each $n \ge n_0$,

provided $d < u_0$.

We claim that the solution x(n) of (2.1) which can be written as (2.3) is convergent. If we consider the sequence

$$v(n) = \sum_{s=n_0}^{n-1} \Phi^{-1}(s+1, n_0) G(s, x(s)),$$

then we have

$$|v(n) - v(m)| \le \sum_{s=m}^{n-1} |\Phi^{-1}(s+1, n_0)| |G(s, x(s))|$$

 $\le M \sum_{s=m}^{n-1} \omega(s, |x(s)|)$

$$\leq M \sum_{s=m}^{n-1} \omega(s, u(s))$$

$$= M(u(n) - u(m)), n \geq m \geq n_0,$$

by the monotonicity of $\omega(n, u)$. It follows that v(n) is Cauchy since u(n) is convergent. Thus there exists a vector $\xi \in \mathbb{R}^m$ such that any solution $x(n, n_0, x_0)$ of (2.3) for all $|x_0|$ sufficiently small satisfies the following asymptotic relationship:

$$x(n) = \xi + o(1)$$
 as $n \to \infty$.

For the converse asymptotic relationship, we let $\xi \in \mathbb{R}^m$ be any vector and set

$$x_0 = \Phi_{\infty}^{-1} \xi - v_{\infty},$$

where $\Phi_{\infty} = \lim_{n \to \infty} \Phi(n)$ and $v_{\infty} = \lim_{n \to \infty} v(n)$. Then any solution x(n) of (2.3) which is equivalent to (2.1) satisfies

$$x(n, n_0, x_0)) = \Phi(n, n_0)[x_0 + \sum_{s=n_0}^{\infty} \Phi^{-1}(s+1, n_0)G(s, x(s))]$$

$$- \Phi(n, n_0) \sum_{s=n}^{\infty} \Phi^{-1}(s+1, n_0)G(s, x(s))$$

$$= \xi + o(1) \text{ as } n \to \infty,$$

since

$$\Phi(n, n_0) \sum_{s=n}^{\infty} \Phi^{-1}(s+1, n_0) G(s, x(s)) \to 0 \text{ as } n \to \infty.$$

This completes the proof.

As an illustration of Theorem 2.2 we give the following example.

EXAMPLE 2.3. We consider the nonlinear difference equation

(2.7)
$$\Delta x(n) = f(n, x(n)) = \frac{a^n x(n)}{\sqrt{1 + 2x^2(n)}}$$

and its associated variational difference equation

(2.8)
$$\Delta v(n) = f_x(n,0)v(n) = a^n v(n),$$

where a is a constant with 0 < |a| < 1. Thus

$$f(n,x) = \frac{a^n x}{\sqrt{1+2x^2}}$$
 and $f_x(n,x) = \frac{a^n}{(1+2x^2)^{\frac{3}{2}}}$.

First, we can rewrite (2.7) as (2.3):

(2.9)
$$\Delta x(n) = a^n x(n) + a^n \left[\frac{1}{\sqrt{1 + 2x^2(n)}} - 1 \right] x(n).$$

Since

$$G(n,x) = \int_0^1 [f_x(n,\theta x) - f_x(n,0)] d\theta x,$$

we have

$$|G(n,x)| \leq |a^n[\int_0^1 \frac{d\theta}{\sqrt{1+2(\theta x)^2}} - 1]d\theta x|$$

$$= |a^n[\frac{1}{\sqrt{1+2x^2}} - 1]x|$$

$$\leq a^n|x|.$$

So $\omega(n,|x|) = a^n u$ and it is continuous nondecreasing in u > 0. Now, (2.6) becomes

(2.10)
$$\Delta u(n) = M^2 a^n u(n), \ u(0) = u_0 > 0.$$

Since any solution u(n) of (2.10) is given by

$$u(n) = u_0 + M^2 \sum_{s=0}^{n-1} a^s$$
$$= u_0 + M^2 \left(\frac{1-a^n}{1-a}\right), \ n \ge n_0 = 0,$$

u(n) is bounded on $\mathbb{N}(n_0)$. Thus, by Theorem 2.2, (2.7) has asymptotic equilibrium by setting

$$d = \lim_{n \to \infty} \prod_{s=0}^{n-1} (1 + a^s) |x_0|.$$

THEOREM 2.4. Two systems (2.1) and (2.2) are asymptotically equivalent under the conditions in Theorem 2.2.

PROOF. Let v(n) be any solution of (2.2). Then we have $\lim_{n\to\infty} v(n) = v_{\infty}$ by asymptotic equilibrium of (2.2). Setting

$$x_0 = \Phi_{\infty}^{-1} v_{\infty} - p_{\infty},$$

where $\lim_{n\to\infty} \Phi(n) = \Phi_{\infty}$ and $p_{\infty} = \sum_{s=n_0}^{\infty} \Phi^{-1}(s+1,n_0)G(s,x(s))$, then there exists a solution $x(n,n_0,x_0)$ of (2.1) such that

$$\lim_{n \to \infty} [x(n) - v(n)] = \lim_{n \to \infty} [\Phi(n)(\Phi_{\infty}^{-1}v_{\infty} - p_{\infty}) + \sum_{n \to \infty}^{n-1} \Phi^{-1}(s+1, n_{0})G(s, x(s))) - \Phi(n, n_{0})v_{0}]$$

$$= \Phi_{\infty}(\Phi_{\infty}^{-1}v_{\infty}) - v_{\infty}$$

$$= 0.$$

Conversely, we easily see that the asymptotic relationship also holds by setting $v_0 = x_0 + p_{\infty}$. This completes the proof.

EXAMPLE 2.5. Two difference equations (2.7) and (2.8) in Example 2.3 are asymptotically equivalent by Theorem 2.4.

References

- R. P. Agarwal, Difference Equations and Inequalities, Marcel Dekker, 2nd ed., New York, 2000.
- [2] S. K. Choi and N. J. Koo, Asymptotic property in variation for nonlinear difference systems, Nonlinear Stud. 10 (2003), 151-175.
- [3] S. K. Choi, N. J. Koo, and Y. H. Goo, Variationally stable difference systems, J. Math. Anal. Appl. 256 (2001), 587-605.
- [4] ______, Variationally asymptotically stable difference systems, to appear in Discrete Dynamics in Nature and Society.
- [5] L. Cesari, Asymptotic Behavior and Stability Problems in Ordinary Differential Equations, Academic Press Inc., New York, 1963.
- [6] V. Lakshmikantham and D. Trigiante, Theory of Difference Equations with Applications to Numerical Analysis, Academic Press, San Diego, 1988.
- [7] R. Medina, Asymptotic properties of solutions of nonlinear difference equations,
 J. Comput. Appl. Math. 70 (1996), 57-66.
- [8] R. Medina and M. Pinto, Asymptotic equivalence and asymptotic behavior of difference systems, Comm. Appl. Analysis 1 (1997), 511–523.

Sung Kyu Choi and Nam Jip Koo Department of Mathematics Chungnam National University Daejeon 305-764, Korea

E-mail: skchoi@math.cnu.ac.kr & njkoo@math.cnu.ac.kr

Dong Man Im
Department of Mathematics Education
Chongju University
Chongju 360-764, Korea
E-mail: dmim@cheongju.ac.kr